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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Bre) | BRI F) | ERE(EA/MK | BBRERE(B/R) | X8 ERE

07:50 283 150.0 2.583 || FuHRe07:50 KEHIEFE CGREERSE)
08:40 283 150.0 2.583 |dhF| FiHB@08:40 KEFERF (RAMEEEE)
09:45 283 150.0 2.583 [dhil§| FHEA@D9:45 KENIEF (RAfEEER)
10:40 283 150.0 2.583 [dhig| FiHA@10:40 KEIEFE CGRAFEESE)
11:30 283 150.0 2.583 || FiHAe11:30 KREIEF CGREMERSE)
12:15 283 150.0 2.583 B[ FnHe12:15 REIEF (REERSR)
13:00 283 150.0 2.583 [dhil| FhHA@13:00 KEFEF CGRAHEESE)
13:50 283 150.0 2.583 || FiHAe13:50 KREIEF CGREERSE)
14:40 283 150.0 2.583 || FhiHBe14:40 KREIEF (RAMEEE)
15:35 283 150.0 2.583 |/\FE| FnHR@15:35 REIEFE (REAERSE)
16:50 283 150. 0 2.583 [/\f| FiHAe16:50 KREIEF CGREEREE)
2t 3113.0 (112&) 1650. 0 32 $UGFHKEC: 2200, PH: 6.0

FREVEN S Kt i%PH 6. 005
REE NS KIFHIKEC 2200. 0




ET (ml/hr/plant)

P3-3_0, Day=78 (2025-06-15)

1.0
_ . 1359 1500
0.8 4 VI, sz:ﬂ?V, ET V1, V0, FVI, EVO, FRV, ad jFRV, ET
1030 -
0.6 - L 1000
739 =
0.4 —
L 500 E
0.2 4 40
0.0 - 00 00814,
4
0.8 - F0.8 7
t
0.6 - L 0.6
o
0.4 - -0.4
0.2 1 L0.2 E
0.0 0.0
o5 | OPtEC0=3000.0, setECB=2200 N
0.6 -
0.4
0.2
0.0
o5 | OPtPHO=6.5, setPHB=6.0 N
0.6 -
0.4
0.2
0.0
: 4
200 - : - 2000
. . f— - —_ ©
150 4 ByWon: @D78 01:47: ET=1359 Fg=1650.0 Ro=358. O\r/[/\ @ e & e & © | 1500 E‘
1 —
£
100 - : /l//‘ I I \K - 1000 ~
1 (]
50 - ' A ' - 500 S
] I | °
1.0 F S — 0
0o 1121231 411511671 78 o9 10111213 [14]15][16]17]18]19]2]21]2]2

S P E N EE R ER ERI I ES R EE ER ER ER ER DS DS D D U D EZ A E A

0.6 1

0.4+

0.2~

0.0
800 A

600

400 -

200 A
"PPFD_obs’] is missing

30 4

25 A

20 A

ning: col ['T "To_obs'] is missing

80 -

70

60

50 -

"RHo_obs’] is missi

—— RH Warning: col ['RH obs’,

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0



hour

100

7:05 -
7:15 80

8:15
- 60

9:25
- 40

10:40

13:00
1 I I I -0

% <$’ % &




P3-3

BfiE) | GEBATIC (7)) | ERE (BEA/f) | ERERE (B/R) 5 R

07:15 273 150.0 2.583 Z| {Rigeo7:15 Bz (KREEZEBE)
08:15 273 150. 0 2.583 FA| 1Bzi%@08:15 B3zh (KRA{ERSE)
09:25 273 150.0 2.583 FA| {Ri%@09:25 Bz (RAMEEEE)
10:40 273 150.0 2.583 FH| 1BRi&@10:40 Bzh (GRAEREE)
11:45 273 150.0 2.583 FA| {Ri%e11:45 Bz (GRAEEE)
13:00 273 150.0 2.583 FA| 1BRi%@13:00 B3h (KRAHERESE)
B4t 1638.0 (6%) 900.0 ZHIKEC: 2200, PH: 6.0

FEREHER 2 STEELRF (176.0

ERIASSBRIERL145.0 ml.

FRAVE NS KFHZPH 6. 005
FRAE NS RIFEREC 2200. 0

145.0), AIEEHT—@E XAH5
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P3-3

BfE) | GEBATIK () | s (ERH/#F) | EBREE (B/R) | X5’ R

05:55 283 150.0 2.583 FH| {RRi&@05:55 Bz (FRAEESE)
06:55 283 150.0 2.583 FH| 1RRi&@06:55 B (FRFAERESE)
09:15 283 150.0 2.583 FA| 1BRi%@09:15 B3h (KRAIEREEE)
13:00 283 150.0 2.583 FA| {Ri%@13:00 Bz (GRAERE)
13:50 283 150. 0 2.583 FH| 1RRi&@13:50 B (RS
14:55 283 150.0 2.583 FA| {Ri%@14:55 Bz (GGRAEEE)
16:20 283 150.0 2.583 |Z=| {Ri%e16:20 B (REAEZHE)
23t|1981.0 (7% 1050. 0 EGHKEC: 2200, PH: 5.8

FEREHERE STEELRF (182.0 :

BRI\ SEPRIERL147.0 ml.
RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[E3KECE (1803.0 vs 3700.0) 5
HERFE Y S RiFHREC 2200. 0

147.0), AIEERT—@E XA 5
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-3

BfiE) | GEBAK (R | EHE (EAR/HK) | ERERE (B/R) | KR R

07:05 283 150.0 2.583 & 1Bi%@07:05 B3h (kBIEREE)
07:50 283 150. 0 2.583 & ’Ri%@07:50 Bzh (kRAERESE)
09:05 283 150. 0 2.583 & ’R1%@09:05 BHEh (KAERKSE)
09:55 283 150.0 2.583 5 B21%@09:55 B3h (K BIEREE)
10:35 283 150.0 2.583 5 B2i%@10:35 B3zh (RPBEREE)
11:10 283 150. 0 2.583 5 BRige11:10 Bzh (REERESE)
11:45 283 150.0 2.583 5 BRige11:45 Bz (REPERSE)
12:15 283 150.0 2.583 5 Bige12:15 Bzh (RAEREE)
12:45 283 150. 0 2.583 5 Ri%e12:45 Bz (RAERSE)
13:20 283 150.0 2.583 & BRi%e13:20 Bz CGRAERESE)
14:00 283 150.0 2.583 5 Bi%@14:00 B3h (kPBEREE)
14:45 283 150. 0 2.583 5 Ri%e14:45 Bzh (GRAERSE)
15:35 283 150.0 2.583 & BRi%@15:35 Bz CGRAERE)
16:30 283 150. 0 2.583 BE| #F1T016:30 B (RkAEREE)
H2it]3962.0 (14)%) 2100.0 EGHKEC: 2200, PH: 5.8

FREVEIN S Kt iPH 5. 85
#H[EKECE (1847.0 vs 3957.0) 15
FRAE NS KFREC 2200. 0
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